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MATHEMATIGS ( Academic Sessions 2014 — 2016 to 2017 - 2019 )
Q.PAPER - I ( Objective Type ) 218-(INTER PART —1I) - Time Allowed : 30 Minutes
GROUP - 11 Maximum Marks : 20

PAPER CODE = 6194
Note : Four possible answers A, B, C and D to each question are given. The choice which you think is correct,
fill that circle in front of that question with Marker or Pen ink in the answer-book. Cutting or filling
two or more circles will result in zero mark in that question.

=l 2 sin(P+Q]cos(P_Q)=———w:
2 2
(A) sinP +sinQ (B) sinP-sinQ
(C) cosP +cosQ (D) cosP-cosQ
2 | With usual notation "Cy =
(A) 1 (B) 0 ' (C) n (D) 2
3 sin"! A -sin” ' = :
(A) (B) sin”'(4V1- B? +831 W)
(C) (D) cos~'( Av1- B gBVI - 4%)
4 | Values of ™y ¢ s B¢ the quadrantal angle'765° are same as of the
angle : . - _. A
(A). 30° wB) A &\ (©), 60° (D) 90°
S ] L J -
Solution of cot® = —
38
5
&) = (D) =
6 | The sum of coefficients in the binOwyi ion whenn=41is
(A) 1 B)A8 s (C) 16 (D) 32
7 | With usual notatiémithe* circum-radius” R = ---- :
A abc A 5
A) — S C) — D) —
(A) = (B) T (©) 0 (D)
8 | Pertod®f 3sin2x is :
(A) om (B) 2n ©C) = (D) g
9 | Which one is divisible by 2 for all positive integral values of n :
(A) n’-n (B) 5" -1 (cy 5 =3" (D) n’+n
"’ b=
tan =
In law of tangents ————% =
. an(P27)
2
@) =2 ®). =2 @ == @) 2=<
+b c+a c+b b+c
11 | If ' be the cube root of unity, then o =:
-1-+/3i 1-+/3i 5 1++43i
(A f’ (B) f : © 1 (D) *;’r :
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1-12

Multiplicative inverse of complex number — 3 - 5i is :

3 5 -3 5 = <3 &
A iy By =y S g D) 2+
Ty ® 323 © 5% D)

13

Simplify form of -{%I is equal to :

(A) 720 (B) 620 (C) 520 (D) 420

14

=
If matrix [; SJ is singular then x = :

(A) O B) -1 ) 2 (D» 1

15

Geometric mean between 4 and 16 are :

(A) 10 (B) +8 (€) %_3 (D) 64

16

Roots of the equation x> -7x+10=0 are : P

| 4

(A) (2,-5)  (B) (-2,5) (©) (2*,.5.)_;_- o ) (=25=3)
Mg of AuPL (Arithmetic progression ) :

Formula for the sum #f

18

Tabular form ofy { xJix

(A) {3} (B) {4}

19

Partial fractions of - ! are of tht

(22 +1)(x-1)

@ A B @ A, B

g1 X1 x4l 1)

A Bx+C Ax+ B C
; + (D) > +
ot = N | x* 4] > x=1

©

20

A matrix A is said to be symmetric if :

(A) A'=-4  (B) A'=4 €) (A) =4 (D) (A) =-4
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MATHEMATICS 218-(INTER PART - 1) Time Allowed : 2.30 hours
PAPER -1 ( Essay Type ) GROUP -1I Maximum Marks : 80
SECTION - |
2. Write short answers to any EIGHT (8) questions ; 16

(i) Doestheset{1,-1} close wrt : (a) addition (b) multiplication
(if) Find multiplicative inverse of the complex number (-4, 7)

(iii) If z=1-iv3 , then find | z|

(iv) Write inverse and contrapositive of q — p
(v} If A={a,b,c},then write all subsets of A and find P (A)

(vi) Show that set of natural number is not a group w.r.t. addition,

(vii) Define diagonal matrix with an example.

(viii) If 4 {2 I] ,then find 4~
6 3
6 7 8[ )
(ix) Without expfmsion showthat |3 4 5‘:0 N\
_ e 4
(x) Find four 4™ roots of unity. Qﬂ

(xi) If a,P arerootsof x* - px— p~c =0, show that (0 o) (1. 5 =0
(xii) Find quadratic equation whose roots are 20,362, Where © is cube roots of unity.
3. Write short answers to any EIGHT (8) questions/ ' i\x
% 5
() Resolve — %1 into partig o e
(x+D)(x-D "
(ii) Find the indicated term of the sequenice 2, 6, 11, 17, - a, =7
P . o
-V 1-x | e

(tv) Inserttwo GdMssbetween 1 and 8.

16

(iii) Sum the series upto n-temms

~ ;

(v) Find the sum of the infinite geometric series %1- L +% \;\.:,_
(vi) Eifdhhe €2™term of the harmonic sequence % 2 % R
)
(vii) Evaluate e
151(15-15)!
(viii) Find the value of n, when 12;“ ="Cp

(ix) There are 5 green and 3 red balls in a box, one ball is taken out, find the probability
that the ball drawn is green.
(x) Find the number of the diagonals of a 6-sided figure.
(xi) Find the term involving x* in the expansion of (3 -2x)’.
1
(x11) Using binomial theorem find the value of (1 .03)? upto three decimal places.
4. Write short answers to any NINE (9) questions : 18
(i) Define angle in the standard position with figure.
(i) Find x, if tan? 45° - cos® 60° = x sin 45° cos 45° tan 60°

(iii) Prove that ———— I_ =2sec’ 0
1+sinB 1-sinB
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4. (iv) Find the value of sin540° without using calculator.
(v) Prove that tan(E Fﬁ) + tan[g-r-t— +ﬁ)=0
\ 4 4
(vi) Express sin(x +45° }sin(x —45°) as sum OF difference.
(vii) Find the period of cos%

(viii) Find the area of triangle AABC, in whichb=37 , ¢=45 and a= 30°50’
(ix) Provethat rrrr= A? (Using usual notation)

(x) Provethat (n+n) tan% = ¢ ( Using usual notation)
(xi) Find domain and range of y = cos™' x 2 f \

(xii) Solve the equation sinx = l I
2 .

(xiii) Find solutions of cot® = T which lie in [0, 27}

SECTION - 11 S # %
\ll %

Note : Attempt any THREE questions.

5. (a) Convert the following theorem to Jogical form and prove it by construcngg
AU(BNC) = (AuB)N(Av ()

(b) Solve the following system by reducing their augmented mattices to the ec\‘h\ilon form :

x+2y+z=2
2x+y+2z=-1 %if'
2x+3y-z=9 %,

6. (a) If o,B are the roots of the equation ax¥+bx P = 0 then find the equation whose

-1 1 %
roc:tsare 3 ) 33 S

4
(b) Resolve = > intofpartial fraction. >
(x-3)(xp2)
a b . 3
7. (a) For what value ffy ————— 1S the positive geometric mean (GM.)
an—l +bn-1
between a and b 5
(b) If x is so small that its square and higher powers can be neglected, then show that : 5
1 i
)2 (9 —4x)2
-2 o= 3 6L,
L] 2 48
(8+3x)3
m? +1 T i
8. (a) If cosecO= 3 and m>0, ( 0<b< EJ , find the values of the remaining
m
trigonometric ratios. 5
(b) Prove without using calculator that cos20° cos40° cos60° cos80° = _1% 5
9. (a) The sides of a triangle are x2+x+1,2x+]and x2 —1. Prove that the greatest
angle of the triangle is 120°. 5
-1
5

& A

(b) Prove that 2tan"~]§+ tan %
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